A=A TiRBEHE = —A

7T A4 RERNFERTREE 1

GE AFRFEBEA~OAFEE PEL T
BIERRFAES L OZICET 5%

(Berf 1)
HEFEL - (EE) ARV, SHE &
(5htE) A, S, 4 /NE BT,

AW

B At IRF
A1~
£l

fe -
4\ (jé

=S

Hl1~6, k1~4,
1~4 (LiEfmiH 11 =)
Ait12 a2~

Kil~4,

O HEDHB - ERK B AR
HEY  AERFBE TOFTIRIN I L 72 5 RN BAGE N 2 2o
ERKEAR Ak L~ VET

© FEEEtmE (55 1~1518)

1 BAGEFENBWT AN, AV T—var, ObLWNR, BXBT

2 [HBABROAARGEYHR L] 1~ 37, BEFEA

3 [HRALROAAREIEL] 4~ 758, THHEE -7V vi-vay (1)

4 [HAROBAREYKL] 8 ~125], THHEWE - 7 v vi-var (2),FRET A ML)
5 [HAZROAAREN 1] 13~157%, TZHENE - 7 vt v7-vary (3)

6 [ZAZROAARGENHRL] 16~198%, THHEE - 7 v vi-vay (4),ERET X M (2)
7 THAROBAGEGN 1] 20~23 3%, T2EHEN - 7 Lt vi-vay (5)

8 [HAZROBARFENN L] 24~25 3, THEFE - 7 v vi-vay (6), FRIT A b

9 [HAROAAGENL 2] 26~297, TZHENE -« 7 vt vi-vay (7)

10 [HAZDBAE 2] 30~33 7, T2dlE - 77 vt vi—vay (8),ZRET % I (3)
11 [HAZROAAGER 2] 34~36 3%, T22HE - 7 Ve vi-vay (9)

12 [AAZOBAGEYRE 2] 37~40 7, T4 7 v vi-vay (10), ZRET A k(4)
13 [HAZROAAGER 2] 41~44 38, T2EEN - 7 Ve v7r-vay (11)

14 [HAZROAAGEYR 2] 45~48 3, TN - 77Vt vi-vay (12)

15 [HAROBAGEIE 2] 49~50 7%, 7 Vi vi-vay (&%), HIHET A b

FGRERTATG « $S3ERREE, BRlDT X b GERKEE « I - BIR) 22 812 L0l 5,

© #ME

[ F A 72D BAGEAM] %18k 1

-2 (7\9»_

>EE

T2 A 72D AATERRAR « SCEEMESL] Ok 1 - 2

T—Fy NT—7) (R —x—Ry FU—2) 1Th, R
[ AAFE R A (EERA i E4E) WIS CCHRRT 5,
[Basic Kanji Book vol.1] (JLAfL)
© ZOfEZRT & FIH .
THARDAARGED v U =203 T8 2 il (&OERR) | 24 25, (5 1R AR
- FREANS, YLGROFIR - UEM 2 G L T D 2 &,
-@%ﬁﬁé@f VFITH 2 &
-M4E\¢%\%X\ﬁ6@@7xbﬁ%w\E@ﬁ (IR NEITITER AT O,




